[F %&ze4r]

AR fE A Hrer G (S Hrig R 2 4P JEAE S =

iRl 2 -
= e L, b=, -1 %
1
2
3
4
5
6
¥
‘= o, = WP B R i %
t =1t %
Rl 2 =
EE S 1, b=, -1 %
1
2
3
4
5
6
¥
‘= o= 975 R i B iR
t =1t to

~




%)

[F %zesr]

(1) Hie%y Ba v v B2 jEdg L=
(2) SAfF 45 5 yrd-2 pE3
(3) F oA R R T SR D=

S:

KR L

CORES </
A2t HF_d4r 1=
6*;‘2 ; ;" B L | Rt | Tk lh— | d
0 ) = h = hy =
200 gw  |h) = = h, = |y = | =
400 gw | h; = hy = h, = |h2 _h0| =
600 gw |y = hy = hy = [y = o | =
800 gw |} = hy = h, = g = | =
1000 gw  |hs = s = ho| =
H i
Y= o, =
Y=Y +o,= e=
Y,(32% E)=9.7x10"(N/m?) 7 AL
B 4Bt HIF__ ot t=
TS e et | =ma | (e d
0 h) = h = hy =
200 gw | A = h = h = [y = | =
400 gw | h, = hy = h, = |h2 _h0| =
600 gw |y = h = h, = \hy = ho| =
800 gw |hy = hy = h, = [y = hy| =
1000 gw | hs = |y — ho| =
H i
Y= G,=
Y=Y +5,= e=
Y,(32% E)=1.2x10"(N/m?) BAHAL =




